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Do not open this booklet until asked to do so...

RATIONALIST TALENT
SEARCH EXAM 2014
(RTSE)

STD : III

Date of Examination : 30 March 2014 R 11 N
Time : 2.00 pm to 4.30 pm 0 0.

Guidelines for the candidate

1. ufeT & givargal fammeatr Syul mifedt sRuaraat 30 ffe 31k e Juam aget.
You will get additional thirty minutes to fill up information about yourself on the Answer Sheet, before the
start of the exam.

2. e RAYETHAE THOT 150 TR 3T Tieh TR 2 0T YR

This question booklet contains 150 questions each question carries 2 marks.

3. T Y WISTaut Savash 3T%. o= STRIEE Ml UM F3cdTal FehRe! U SISl shet SR Tét.

All questions are compulsory. There is no negative marking.
4. 3MIEATE ST YRR [HeTeaTe W e HATal.

Check to make sure that you have received the appropriate test booklet for your standard.
5. ITRYRERaR STIet AT, GRET S, T2 ST a7 Fg Tehi Tofg = TRt TaeiRt share.

Write your name, roll number, group and class clearly on the Answer Sheet and do not forgot to sign it.
6. AL Hos THd IR SR M. SR SIS Uehel T IS

There is only one correct answer. Choose only one option for an answer.
7. ITE WA SAUATIE! s el e T Sierde aTeRTaT.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a blue/black ball point

pen only. Eg.

Q. x :- Fill in the blanks.

My father went to buy some milk.

A. There B. their C. They're D. here

As the correct answer is option A, you must darken the circle corresponding  Q.X . @ @
to option A in the Answer Sheet

8.  Tiel HuoaTaR THE STRUTh THaeTehiehs TR .

Return the Answer Sheet to the invigilator at the end of the exam.

9. ST TRET SHHi THTYRTRER GaT foTaTa o Ha¥ FReqen! TetT ShicerHaY STaedT |ie =l

Write your Roll No. on the Question Paper too and take it home for future reference.




QAT fetedT Te shHTeh 1 o 3 HaRTer STeiia Ue=ieat A Sl YT shHishT ae T,

TSI STET T ST o SATehiT [arad.

"THAT AT q10TEaT e i7"

"aii'l%ﬁ'”

"fqe 3TEies ShedT ot A"
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"ﬂFﬁ"

"o o= T fgar?”

nf\q?ﬁn

"SR 1! TS, STl GIUTEaT 8 3o Wl ol T Hehl ol 3a™el? 3R, It Iron
1. =107 q1o7 {7 eidt &t Arer?”

RIeT HATET fehdl SHeri=T ST Scetr 378 ?

a) U b) g4 ¢) d) ST 1 @l

AT ShIUTT Y oot STl 32“%‘7

a) geeht b) =hieRT ¢) e d) reites

ST Pl Wes AU |iard?

a) IS b) groTerar C) T d) e

RERTHIT ST el YA A foresor FHaer

a) TE b) g&1 ¢) gHAR d) gasst

QAT STFITIeh! SAhTc3 ! STeRT ST T Ut ShHieh e
a) YT Wood 3TE. b) TR TTETEAT SR 3TTR.
¢) gfae .= urea. d) 3T ST @rss fSe g

(Page - 2)



10.

11.

12.

13.

14.

(2 (2 * [@SEa) < o
dletlel flssflcldler AYAenletll flsg M4l [ Sl

a) TSR b) urE® ¢) TR

QAT TISRTA STeRaaT YeST YT ShHieh Y.

a) |y b) =it c) &l

TGS - R

a) gaIe b) et c) FrTe
ST ST T St --------

a) et b) Tt ¢) arer

QAT TTeETIeh! AHEEYIeh THeTel IR ShioTa?

a) 7 b) 451 c) IS

Which letter from the following has a '&' sound?
a) m b)o c)k

Choose the correct spelling of the word.

a) penceel b) pencil c) pencial

Select the incorrect rhyming pair.

a) pen-hen b) put-cut c) cot-pot

Find the smaller word hidden in the big word 'baloon’'.

'baloon' 3T STETAIT STIAAT T&T I8 hivTAT?

a) ball b) boon c) loon

d) a€iet

d) st

d) Ao

d) wret

d) a7e

d) h

d) penicil

d) fan-man

d) boll
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15.

16.

17.

18.

19.

20.

21.

22.

What is the colour of the crow?

a) green b) blue c) white d) black

Write the correct article.
umbrella.

a) the b)a c) an d) no article

Which of the following is a greeting?
a) All the best! b) don't shout!

c) Can I go now? d) Please give me your pen?
What is the fifth month of the year?

a) June b) March c) May d) April

Which of the following is fruit?

a) brinjal b) potato C) grapes d) radish

Which of the following is not a drink?

a) milk b) jar c) tea d) juice

AT e &l W& Siehrd e fetaret?
a) 70 b) 700 c) 7070 d) 7000
How will you write seven thousands in numbers?

a) 70 b) 700 ¢) 7070 d) 7000

424 31 T 9TcTeh ST 47 TRHd Uehdh SITAT TRHTUeT feohd I ST 311 ?

a) 396 b) 42 c) 442 d) 400

How much greater is the value of 4 in the hundreds place than that in units place of
number 4247

2) 396 b) 42 c) 442 d) 400
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23.

24.

25.

26.

217.

708, 780, 738, 698 AT HEAT TR HHM HISeATH G841 o T HRAdeT Fleh Tohail?

a) 80 b) 40 c) 82 d) 20

If 708, 780, 738, 698 figures are written in decending order, what will be the

difference between the second and the forth number?

a) 80 b) 40 c) 82 d) 20
1 7 50 31 Geames foom wee fohet?
a) 25 b) 26 c) 22 d) 18

How many odd numbers are there between 1 to 50?

a) 25 b) 26 c) 22 d) 18

207 & dwe fotfedi= I Hier faeet @R fqetelt W fohd- AT grea?

a) 234 b) 180 ¢) 702 d) 270

While writing the number 207 zero is missed then by how many numbers that will be

less?

a) 234 b) 180 ¢) 702 d) 270

F& 500 THATH qTET=Rr T AU 5ot TR faearsiaes fohdl T fTecteh et ?

a) feeet b) TRt ¢) WeARRI d) dremiEier

Neha gave 275 rupees out of 500 to Rani. Then how much amount will be there with
Neha?

a) One hundred fifty b) Two hundred

c¢) Two hundred d) One hundred seventy five

weht ST 11 8 G 9 9a7 tHesaears sist 100 Id ¥ |t Se&ar Shivrdt?
a) l b) 10 c) 100 d) 99
If 11 1s added 9 times in a number the sum i1s 100. Then what is that number?

a) 1 b) 10 ¢) 100 d) 99
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28.

29.

30.

31.

32.

HXx7=0, &= fomd?

a)7 b) 1 c)0 d) 10
Cx7=0,thenc=7?
a)7 b) 1 c)0 d) 10

T B 75 F9Fid 5 w0 9 10 Suzren A 9 9HE AR @ 5§ A Al 9@
Toeit?

a) 4 b) 1 c) 15 d)5

The number of currency notes of Rs. 5 & Rs. 10 are equal with the sum of Rs. 75.
Suresh has. How many currency notes of Rs. 5 are there?

a) 4 b) 1 c) 15 d) 5

O30T HieX TSt feohelt WrHteR?
a) 25 b) 50 c) 75 d) 100
3/4 of a meter = how many centimeters?

2) 25 b) 50 c) 75 d) 100

35 feadre foheft 3Teare adrer?
a)6 b) 7 c)S d) 4
How many weeks can be formed for 35 days?

a)6 b) 7 c)S d) 4

Tl = SHOTRT HigHT hIoTr?
a) e b) 3 Ok d) sifrereR
Which of the following month is not in a group?

a) September b) August c) May d) October
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33.

34.

35.

36.

37.

"TET 3 BT 3T AT STYUIhT TG el A

@% b) 8.6 o) 8 d) 6.8

8
How will you write the fraction 'numerator six and denominator eight' in numerical
form?

@% b) 8.6 o) 8

= d) 6.8
. )

——» 37 TFard Aid Hr?
a) ®iF b) InTEE ) IS d) fereor

o——> What does this diagram represent.

a) Angle b) Segment c) Line d) Angle
AT oo R ShIEehi 37T,
a) 1 b) 3 c) 4 )0

angles of rectangle are right angles.

a) 1 b) 3 ¢) 4 d)0
HIUTAT 14 BT Hished TETT SHIR0T

a) WU W 519 T10T 3. b) HIUTETE! BT TSEATI AT 3.
¢) HIUTH g1 Urier Tetd. d) HTOTHT=AT BTATET 373 W& BTeA.

Both hands of the humans remains free because;

a) Human is the most intelligent animal b) Hands of human reach up to his knees

¢) Humans walk on two feet d) Thumb of the hands of human moves freely

T A1 SIS AR G& HATAT T AT Shid FOTT ?
a) TR b) sreHgT C) ¥TqgT d) e
In which age did the use of stone start?

a) Wheel age b) Stone age c) Metal age d) Kaliyug
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38.

39.

40.

41.

42.

TOTEUTSRTHTRITS! HIOTH -------- STHOTET SUANT X 379

a) TTh ST b) gITer=AT c) grer=AT
Humans used the needle of for sewing purposes.
a) wood b) stone c) bones

AU SITESTAT AT HeMl aTe aroRe 3797

a) IaETE b) st ¢) ettt

Humans used which material as a wick to light stone lamps?

a) cotton b) fabric C) creepers

TR S[GUTR U8 TN .

a) 3¢ b) C) Slest
Find the correct option to fit in the following series
Bullock, Donkey, Horse,

a) Camel b) Dog c) Sheep

ISR TR HIOM=AT HIOTHHT hF U ?
a) FeeR b) TEiERY ¢) TR
What are the people who make tools called?

a) artist b) senior ¢) machinist

AT SATUT-ESTUTCT Sh1l TOTeTe?

a) IR b) amEdH C) had
What is the exchange of things called as?

a) Business b) Transport c) Skill

d) Srger=

d) iron

ORIERIE

d) grass

d) Cow

d) HRETR

d) artisan

d) T AT

d) Private property
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43.

44.

45.

46.

o) c n_n n .
dletlel U914l Henldl Sl SHlcodl .

a) TSR 39 W - goll b) MR - I SATUT-EETT

¢) Fad f&ead eut - Yeshd d) o=t AreTE - TR
Find the incorrect pair from the following options :

a) Considering forces of nature as deity - worship

b) Business - exchange of things

¢) Moving around constantly - wanderings

d) Own property- necessity

TG T3] UadT e 3T9ai?
a) 7% b) 2ot C) UTcies d) gsih

How does the alloy of a metal differ from the original metal?

a) soft b) hard c) thinner d) clean

T ------~ TG HIOTHT TThTeR HR STl

a) fersy b) 715 ¢) T ohe d) IR &%
When the wheel started human sharpened its edge.

a) wearing b) rusting C) turning more d) being used

TMEIEAT =T SSUATE! HedT HIUTHTAT 3 oot ?

a) HIRHTH g b) FefehaTE=! =Teh TTgH

C) YT BT ST UTgH d) Semers TS AR e 3Tk g

How did the idea of fitting a wheel to a vehicle struck the man?

a) After seeing a potter make pots b) After seeing a spinning yarn

c) After seeing a millstone d) After seeing a log come rolling down a slope
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47.

48.

49.

50.

TeATeT T e TaT TR {8 3iiesar -

a

2 (a (e} (e} LY a
a) HIVIRATA eteld HetlAlal dienl™l daaUll enerl. b) SAT=ITE] dleh ISl ST gldl.

¢) oA Aok A B, d) STTenTeAT FATHE TR AR .

Which of the following statements is false?

a) Man made toys with wheels for little children.
b) Wheels with spokes were very heavy in weight.
c) Early wheels were solid.

d) Wheels were used in different types of machinery.

AN T =-3TT0T SHRUITHIS! ST SR FeAT?

a) 3ee b) st c) forer d) TR
What was used for transport of goods in the river?
a) Steamboat b) Ship c) Ladder d) Raft

AT ST THACAT TR ShIUTAT?

a) A b) Sret c) dre d) AT
Which fo the following ornaments was not used during stone age?

a) Necklace of beads b) Black-bead neck-ornament

c) Bracelets d) garlands

T T STEHTI AV 1 TeoTe 374 ?
a) el b) =Rat C) HIART d) 9ot

What did the stone age man refer to ocher colours as?

a) Kaav b) Grease c) Earth colour d) Water colours
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51.

52.

53.

54.

55.

(2 (2} o (2 (?
dletletHenl eplVld HA HALAL A AQIYIAIA eple :ﬂ?ﬁ

a) I3 TGN BRuT b)) RTepRIe I ¢) JeATe T d) AT 7E T TR

Which of the following painting is not done by the stone age man?
a) A running deer b) Hunting scenes

c¢) Dancing scenes d) Earthen utensils and jewelry

HIUTE STTEieR ShiIaehlH shol o BTEe ShivTd ShTe ahot?
a) faotehmm DEtsicat) C) AR d) qEewm

Man did carvings on stone, what kind of work did he do on bones?

a) knitwork b) design c) woodwork d) weaving
SHIOTT ST TS 3.
a) Wk b) T c) == d) 9Rd

Which country has pyaramids?
a) Iraq b) Egypt c) China d) India

YRATA YT hivTdT Tl ardl?

DremEEd  b)fewgd 0 odwwed b dwwed
Which ancient civilization existed in India?

a) Harappan Civilization b) Indus Valley Civilization

c) Greek Civilization d) Buddist Civilization

QTeAtet Yot ShivTe TliehIeal ATal?
a) YRAeTY b) TS C) TR I d) e F=
Which of the following is not a folk dance?

a) Bharatnatyam b) Koli Dance c) Tribal Dance d) Garba Dance
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56.

57.

58.

59.

60.

ETeATeTdeh! ShIOTTT Tl =IT ThTeT 3191’

a) geat b) 1 c) g d) =iz
Which of the following is self-luminous?

a) Earth b) Planet c) Sun d) Moon

TeATCTIeh! Jea i e e THOTRT T4 3Tl

a) gl &1 % 378 b) gaIiad TR ¢) W1 d 3Tl e d) T e TR

Find out which of the following options is not related to earth?

a) Earth is a planet b) Rotates around the sun
c) Receives light and heat d) Revolves around itself
AT URTRT GealteaT =T RTIeR 3T Ugal?

a) geat FATHIEd! fEeaTes b) 7= o feeares

C) JAT et STEeATeS d) Faea 7 gar

Why does sunlight fall only on half portion of the earth?
a) Because earth rotates around the sun  b) Because of day and night

c) Receives light and heat d) Because of sunrise and sunset

3MIUT Johe TS hord 3H WTeet TR SIeAT ST STarhes! G FuTdt?

a) I b) gferor c) afe=m d) ga

If we stand facing towards east then what will be direction towards our left hand
side?

a) North b) South c) West d) East

TSHTRTEAT ISTAT ST Teh 9107 i '3’ 379 fetfeet STl '3’ AT 372 i gieft?

a) TR I b) 3T fezm ¢) 3aia d) T T e

On a map an arrow is drawn on one side and 'N' is written next to it, what does 'N'
mean?

a) Answer to a question b) North Direction

c) Remaining d) All of these are correct

(Page - 12)



61.

62.

63.

64.

65.

QAT YR e SAHR el 3hH STHUIRT 317 qare S,

1. e, 2. e, 3. aret, 4. areqe, 5. T

Find out the correct option according to the increasing order of their areas :
1. village, 2. country, 3. wadi, 4. district, 5. state

a)1,4,3,2,5 b)5,2,4,1,3

GTeAoT Uehl ShITTAT SR ATel?

a) TIHTAT b) sHeegaTe

©)3,1,2,4,5 d)3,1,4,2,5

C) BREg d) SrerETE

Which of the following is not a mountain range?

a) Satmala b) Kalsubai

ST YR UTOT FRTAT TS 3t 3T

a) T @R b) Tar q@

c) harishchandra  d) Balaghat

What is the name of the region where a river joints to the sea?

a) Valley of the river

c¢) Confluence

S VICHT AUITHIA ead SWIAT dig T ?

a) fgarat b) HRTHHI

AITTCAT ST TEUTeTeT?
c) §H d) @ret
b) Mouth of the river
d) Creek
¢) AT d) T&

After which festival the climate starts temperature rising?

a) Diwali b) Makar Sankrant c¢) Chrismas d) Dussehra

(e} (e a0 o <
dietletlenl denldl stlsl SAAYVIIRT M4 Sl

s N0
a) TME-9IrREudl

¢) SFegMTeTg-TisT Gusd!

oo|l.
b) HrT-aETT
d) T-rafiTer qremgast

Find the incorrect pair from the following options:

a) Fish - wealth of sea

¢) Aluminum - mineral wealth

b) Vegetation - wealth of the forest

d) Roads - Natural resource wealth
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66.

67.

68.

69.

70.

(2 (2} a o
GTeleTdehl IS TUeh ShIuTd?

a) A5 b) St c) T d) a0

Find the incorrect pair from the following options :

a) Rice b) Jowar c) Green gram d) Gram
TRST JUT SFRUSTHIS! Sho1oaT SHIHT --------- 3T TRUTAT.

a) e b) =R C) &<eh d) e

Work done to fulfill basic necessities 1s called

a) business b) trade c) transport d) means

AT TR hedT U= ST ST ST TUTAT?

a) oTe ST b) T3 & C) TR d) 99 3emT
The production done within a home is called

a) Small scale industry b) Large industry

c) Cottage industry d) Easy industry

QAT Yot T T Tee-Te W Wre Ael?

a) greaT b) TreTa geea C) ST d) femm=

Which of the following is not the chief means of communication?

a) Telephone b) Mobile Telephone

c) Internet d) Aeroplane

P ST TTRTHE --------- GEI-fasht Sheft ST

a) ST b) T C) SISt d) SraTeT=

Trade of 1s carried out in an agricultural product market.

a) Medicines b) Gold c) Clothes d) Agricultural produce
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71.

72.

73.

74.

75.

sTfeemdt wlieh is Yad ATel?
a) STRE=ATd b) & C) T d) dreameRr

Tribal people do not live in

a) Mountains and valleys b) Forests

c) Cities d) Caravans

STt ST T 3G MHBTETER M THAT g ?
a) eAihEa b) o ¢) fer d) 9a waE SR
What do farmers indulge in after finishing their work in the farms?

a) Folk music b) Bhajan c¢) Kirtan d) All of these

MRS TSI IeT Faid 39 ¥RaR vt 372 ?

a) HBGATS b) ASE 31y YRNEE d) grager
Which is the highest mountain peak in Maharashtra?

a) Kalsubai b) Mount Abu c) Shivneri d) Satpura

URIZATET STTOT=3T AT STl TeOTeTel ?
a) e b) wiew c) T d) sremees
What is a person going on tours called?

a) Mountaineer b) Tourist c) Supervisor d) Analyst

TRIEATGS ShIvTAT IR B’

a) TIoTqone ShHT &lal  b) el Hifedt e ¢©) Tei Uevmen Uy glar d) "e 1T s)ie
What are the benefits of tourism?
a) Stress is reduced b) New information is obtained

c) Introduced to new regions d) All options are correct
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76.  @reliet YA AT St hioT?

a) S-Tlie b) TieRI Tee-gsiia
C) T~ STAUTVT AT d) gEr-gaer STl
Which is the correct pair from the given alternatives?

a) Clouds-living b) Kitten - living

c) scooter - required food & water d) Fans - live on air

77. G AR H%ﬂ?qrswm ST ShIOTeT NG e‘léﬂ?

gld, hi, AT, !
a) dre b) 3 C) W d) gre

Which word will be correct to take place of '?'

Eye, Ears, Nose, ?

a) Mouth b) Arm c) Elbow d) Stomach

78.  WIolleTuehl ShIUTeAT WTUATAT | A ?
a) "HIhe b) sgw C) Tea d) shrEe

Which one of the following animals do not have neck?

a) Monkey b) Frog c) Donkey d) Tortoise
79.  UATAA ----mmmme SHUTIEAT T Sl YAV 3T TR .
a) uie=ar b) dieren c) fexan d) STeresa
Plants prepare their food in sunlight with the help of particles in leaves.
a) white b) red Cc) green d) violet
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80.

81.

82.

83.

afeed USTET ST USTeN fafte Hey o qwre Wey faeear ysTen e ugwel e wireAn
UETTS! T T

Write the proper alternative giving the correct answer(word) matching the third word
after considering the relation between the first and second words :

IR0 © ST 1 STRIS - 7

a) die b) aie C) U d) I

Groundnut ;: Almond :;: Walnut : ?

a) Beet b) Mango c) Papaya d) Coconut

ST & TR 21 BT 2 ?
a) T b) srem C) ST d) rRer
Greens peas : Pigeon Pea :: Gram : ?

a) Greengram b) Drumstick c) Amla d) Cucumber

(aY C cC o ¢
Gletler YAl 4 en AR SHHAUIRT Y4l Hloodl.
a) AT Ui b) SIS i ¢) e e d) ot

Which among the following is a natural shelter?

a) Honey bee hive b) Holes in the ground
c) Thick grass d) Cow-shed

C [ o o
TRATEROTTET foraR e SeeiedT BT 1T TuTdT.
a) qaRfed | b) gt et ¢) T d) fare Pishiedt |

What are the houses built considering environment are called?

a) Pre planned houses b) Eco-friendly

c) Igloo d) Cement Concrete houses
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84.

83.

86.

87.

88.

SHIVTCT STAETeAT TR ST R Feodl?
a) e b) %z ¢) T

From which thread we make a rope?

a) Banyan b) Plantain
c) A type of Aloe plant d) Jute
HIVTAT TTOT Y& A ATEl?

a) WS b) et ¢) T

Which animal does not ruminate?

a) Cat b) Sheep c) Cow

----------- Tc5 IR UTehR YU STeRit ST
a) Saaed b) ufer c) &I

The body resisting power rises due to

a) Vitamins b) Proteins c) Salt

QTATe T T = SE0TRT 91 i,
a) Siq b) Sam C) il
Find the alternative that does not belong to the group.

a) Intestinal worms b) Louses c) Dandruffs

QAT Teh TR 0T ?
a) Id b) Sfiey c) 33
Which of the following is a sensory-organ?

a) Teeth b) Tongue c) Lips

d) g

d) Buffalo

d) fegen

d) Oil

d) forar

d) Nits

d) =

d) Nails
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89.

90.

91.

92.

93.

TTeT STRIAT TTeI0T STHUATHTS! T 37 hat 31aran?
a) STesT b) fgaest c) gied
What colour of tongue is a sign of good health?

a) Violet b) Yellow c) White

a) T b) g C) UISIAT FHUAT
Walking with poke result in diseases of

a) legs b) neck ¢) spinal cord
HITAT WA --------- g 3T,

a) 206 b) 207 c) 12

There are bones in ear lobes.

a) 206 b) 207 c) 12

BSHE -----mmmv Bl A TR ST
a) HiersT b) wrERE C) SHIcATSH
A bone contains a fibrous substance called

a) Calcium b) Phosperous c) Collagen

3TThell SRTTUT=AT YRTATT ST TUTAT ?
a) 5o b) Ty c) et
Substance changing its shape is called

a) liquid b) solid c) substance

d) et

d) Pink

d) =g

d) brain

d) 0

d) 0

d) BrageH

d) Hydrogen

d) e

d) air
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94.

95.

96.

97.

98.

GTeATeT Uehl allsT SheleR TS ATet?

a) TARCAER b) TrETER C) TSR d) SiteR
On which of the following lightening doesn't fall?

a) On building b) On foot ¢) On tree d) On earth
TIeid 7 SHUTRT U7 3754l

a) s b) Tl Q) g d) 7
Odd man out.

a) Jawar b) Bajra c) Milk d) Moog
TRATCAh AT ST --------- T

a) TR b) weTHR o)W s d) AR
President of the municipal corporation is called

a) Sarpanch b) Mayor c¢) Chief Officer d) Nagaradhyaksha
SRS AT -------- BERESIUGE

a) G I b) s ¢) AT d) et
People become habitual to because of the banks.

a) Spending money b) Saving money  c¢) Interest d) Loans
----------- T AR STUT SHTEHTI .

a) gt b) ymarEr g fos=r ©) Wi d) ewI=T
We should use economically.

a) money b) water and electricity

c) plastic d) telephone

(Page - 20)



99. T YT SHMETA €T HUITIG, ---------=-- .
a) THIH b) et ¢) Teremosiiet d) 7=
is required to buy grains from a ration shop.

a) Passbook b) Receipt c¢) Ration card d) Letter

100. w@Teiier Ueht SHIoTA Frerem FIRT o' TehRTd A AT
a) T b) froT g C) TMMesT d) 5%
Which of the following facilities does not come under civic facilities?

a) Hospital b) Grocery Shop  ¢) School d) Bank

et/ Alphabets .- ABCDEFGHIJKLMNOPQRSTUVWXYZ

101. ST Eusit STeReTerd 'S' AT STeRT= SEhe fohddl shHih 3Te?
a)7an b) 19 c) 14 ar d) 18 ar
In the above alphabets, what is the position of 's' from the left?

a) 7" b) 19" c) 14" d) 18"

102, =Rict ST STeReTerd Box 1 37 9165 SUATHIe! ShivTel shishrdl 37ei e ?
a) 2,14, 24 b) 2, 14, 26 c)3,15,24 d) 2, 15, 24
In the above alphabets, to make the word BOX, alphabets of which numbers should
be taken?

a) 2,14, 24 b) 2, 14, 26 c) 3, 15,24 d) 2, 15, 24

103. odtet Soreit steredera 'H' & "N steriaes fopdt e amea?
a) 9rd b) =® C) U=l d) &t
In the above alphabets, how many alphabets are present between 'H' and 'N'?

a) seven b) four c) five d) six
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104.

105.

106.

107.

108.

92,1,9,5,4,1,9,3,2,4

R SRATerd 1 HaR 9 31 9ur 9 HaR 5 AR 1% Tohelt 93T 3me?
In the above series of numbers, how many times it has occurred that 9 is after 1 but
there is no 5 after 9?

a) 1 b) 2 c) 4 d) 3

3TeRHTeTd WalTd STRE Je3T SHIOTT 37eh T 3T ?
Which number appears the most number of times in the above series?

a)9 b) 2 c) 1 d) 4

375k H1feTehd TR I STehi akisT S5 Jget 3791 fohdl STrear stea?
In the above series how many pairs of consecutive numbers are there which add up
to 57

a) 1 b) 2 c)5 d) 3

................... 2 U S AT Biel?
a) ferarstt =1 b) Feyrit T C) TSI Tt d) fararstt Tt

was a scholar of Sanskrit?

a) Shivaji Raje b) Sambhaji Raje  ¢) Shahaji Raje d) Vithoji Raje

ETeTIeTUehl ShIUTAT HEeh Rl TeT 1et?

a) HIER R b) o= ¢) AR d) s

Which of the following is not a co-operative society?

a) Sugar factory b) Bank c¢) Cotton mill d) High schol
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109. o= SR SR UicHT 3 ST o T2t ST STHATHE .
Find the mirror image of question figure from the answer figures.

TYAATRAT Tea TR
| 1
i N !
i //\ § I/_\ \ //C—D\\ / /\\\ /( > \‘\ ;
; i'; — @ \ (‘ N A ‘ .f' \i f . o .1‘ |I 5 ‘ - \i 1‘
R AR AR AR
(1) (2) (3) (4)
a) 1 b) 2 )5 d) 3

110. o977 STThc=it SR Ui 3 S8 o T2t 3T ST .
Find the mirror image of question figure from the answer figures.

mm A ATR AT
1 ! l
~ N =\ =2
/ N ? | f=p \| | N
B/ e A/
—___\/ } % - v a— /
N a |
(1) (2) (3 (4)
a) 1 b) 2 c)S d)3
111, T sTepe STl
Find the odd figure.
(1) (2) (3) (4)
a) 1 b) 2 c)S d)3
112. aRdre formm S 5 Sor?
a) T TaR b) Tz 7t ) GRTTFIR 1 d) geaRTST TeeToT
Who is the Union Agriculture Minister of India?
a) Sharad Pawar b) Narendra Modi
¢) Shushilkumar Shinde d) Narendra Modi
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113.

114.

115.

116.

117.

118.

G|l Y1 T2 7 YU Y HAls .

a) Troft b) s/t ¢) e

L1 O IV 3T

a) e b) TR c) ST
All are self illuminated.

a) Plants b) Stars c) Satellite

............. 2 STRTS HISTUAT Ueheh 31187

a) fetex b) IR c) |
1s the unit of measuring air pressure?
a) liter b) bar c) °C

S ARSI T s IS G 9.
a) 7 b) 5 ¢) 10

The number of committees in Zilla Parishad are

a) 7 b) 5 c) 10

................. IR G STeh WU 3Tied@et SIT.
a) Torarsit FeRTT b) 3R ¢) TSI

1s regarded as the father of Indian Nevy.

a) Shivaji Mahara; b) Akbar c) Aurangzeb

Qe T TTeTd = SEUIRT STl 3T3ET.

Find out the odd figure from the followings.

o S
O @Q)@

(1) (2) (3) (4)
a) 1 b) 2 c) 5

d) e

d) gesit

d) Earth

d) =t

d) cubic centimeter

d) 12

d) 12

d) o

d) Krushnadevrai

d)3
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119. @it 99T TerTd = SEUTRT STEhdl 3T,
Find out the odd figure from the followings.

|| OC

(1) (2) 3) 4)
a) 1 b) 2 )5 d) 3

120. @reiter U9 TS §ogd STBUTRT 3Tl ST,
Find the exactly similar figure for the question figure from the answer figures.

T AT IR
/@\ | {ﬁ\ /@\ /@\
0|00 0)¢
(1) 2) (3) (4)
a) 1 b) 2 ¢)5 d) 3
121. 787 31 STioTell HIHT 37T % ATl 3T 3TRT=A SMEe Hivr?
a) Juig b) ey YSIEZ=I d) wreret
122, e IRISIC IR I
a) feeedt b) 7T ¢) S d) TR

Which is called the 'pink city'?
a) Delhi b) Madurai c) Jaipur d) Gujrat

123, TYaeare %{Oll Hocl, %{Of-llt'il el Hecet, Al qiel ecdd, qiG=ATeAl I3 ocl, onlood|l

a3 Tegel TR TTaara T ehiureT?

a) fexar b) et C) qieqr d) shrest

Yellow is called as green, green is called as red, red is called as white, white is called
as black then what is the colour of grass?

a) green b) red c) white d) black
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124. gma =456, gerd = 478 T aa = fohdt?

a) 546 b) 754 c) 745 d) 756
7. 125 ¢ 127 |dt AT - Wielte? [Setedn dhd T8 N\
TRreToT ST & e faaRetea U= 3T 9. 6—',",—1,%\ \\‘.
For Q. 125 to 127 :- Observe the adjoin figure :\‘ /’I “\‘ 3,::
and answer the following questions. \,)é’\‘i _i"‘:-“(_’\/il
125, e FhIOTI STHUT=AT 37ehTeI UM fofictl? ? /_/3 ! \\\\\
a) 21 b) 20 / 4 5\
c)9 d) 60
What is the multiplication of the numbers which are only in triangle?
a)21 b) 20 c)9 d) 60
126. T1eRI0T, =TI & Acios AT THISE STHUTRT 3ieh hioTar?
a) 1 b) 3 c)9 d)7=a6
Which is the common number in triangle, square and circle?
a) 1 b)3 c)9 d) 7and 6

127. TehioT SR AT ATHTSS STHUT=T U7 FcjeaTd A0t ekt siist foheit?
a) 10 b) 8 c)9 d) 11
What is the addition of numbers which are common in triangle and square but not in
circle?

a) 10 b) 8 c)9 d) 11

128. e AR FHM 15 1T S STHeaTs ot feh! [SahTott shTaTelt Amtet?
a) 13 b) 14 c) 12 d) 15
For how many times we have to cut the wire to make 15 pieces of it?

a) 13 b) 14 c) 12 d) 15
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129.

130.

131.

132.

9. 129 1et e - ufeea ugn SH-AT USTRN SOl e 37 q9rd Hee fqe=a ugre et ugren
3IE ATGA U¥AT=TAT ST AVIRT F17 G 2Ive.

For Q. 129:- Write the proper alternative giving the correct answer(word) matching

the third word after considering the relation between the first and second words

ST © ST :: Tohoatt : ?
a) | b) a9 ¢) desar d) R
Garden : Fence : Fort : ?

a) Border b) Entrance c) Fortification d) Tunnel

LS €T 8T WoaTg, hIvTedT WIS Heelie 3T ?

a) Gi-at b) fshehe C) Fediet O ED
Mahendrasing Dhoni belongs to which of the following game?

a) Kho-Kho b) Cricket c¢) Football d) Hockey

TERTSII TR hivT STee?

a) AR FeToT b) @ TaR c) SRid Tetet d) a7eries eeToT
Who is the Chief Minister of Maharashtra?

a) Pruthviraj chavan b) Ajit Pawar c) Jayant Patil d) Ashok Chavan

Tohehet Taiterd hioTeT WeaTgH e fRasre?
a) forTe Figa b) e ¢) Fra TSeTH d) Tiaw TR

Which of the following cricket player is recently retired?

a) Virat Kohli b) Suresh Raina
c¢) Sachin Tendulkar d) Gautam Gambhir
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133.

134.

135.

136.

137.

STTIET IS Teft SHIoTT 377
a) AR b) &S C) I
Which is our national bird?

a) Peacock b) Eagle c) Cookoo

o (e} a :7
SIS U] letledYenl enlc JHled !

a) TICETR b) H=rg C) a5

Where are the word famous caves?

a) Kolhapur b) Mumbai c¢) Verul

HERTSET T9TeT0T Hafl ShivT TR ?
a) TRF0T ot b) 1% g9 WELERECE
Who is the Educational Minister of Maharashtra?

a) Narayan Rane b) Rajendra Darda c¢) Chagan Bhujbal

RIS F¥TamRT foheet Fhaed Meamed 31e?

a) TR b) qot ¢) HERT

In which district of Maharashtra the fort Shivneri is located?

a) Aurangabad b) Pune c) Satara

TSTSTTS, S0 I ShivTeT ISRt 3T ?
a) ot b) afiTaTg ¢) FeTeTom
In which district the birth place of Jajau located?

a) Pune b) Aurangabad c¢) Buldhana

d)

d) et

d) Sangli

d) 3TeTieR TreeToT

d) Ashok Chavan

d) T

d) Raigad

d) AR

d) Nagpur
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138.

139.

140.

141.

142.

T TS STIUT ok Abe Vel

a) @i

b) Tt

¢) BId

With the help of this organ we can turn our head.

a) shoulder

b) eyes

c¢) hand

Y07 IR FoodT TTATHoS STTCAT &g Ikt ?

a) eixd

b) &=

¢) Sy

With the help of which organ we can see the world?

a) eyes

b) ears

Cc) tongue

G TR HERTST i e fefgetell SR hiorar?

a) FeEee

On which hill Saint Tukaram Maharaj had written Gatha?

a) Chikhaldara

b) TSR

C) HeIrI

b) Bheemashankar c¢) Bhandara

A & IV TeaTdl G A 377

a) Fediel

b) et

C) IREheaTA

Which of the following game is also called as Soccer?

a) Football

b) Holly ball

c) Basket Ball

TSH o FA4eh ST ST ST HEBAT 7

a) ufern

b) 9ra

C) AR

d) neck

WEIED

d) nose

d) o=t

d) Shivneri

d) gt

d) Hockey

d) gfeToT STITREHT

In which of the following country maximum people are affected by AIDS?

a) Asia

b) India

c) America

d) South Africa
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143.

144.

145.

146.

147.

AT TETEY AT [THes IS 3T ?
a) AR b) =g ¢) feeett d) s
Where 1s the Lal Bahadur Shastri airport?

a) Varanasi b) Mumbai c¢) Delhi d) Hydrabad
TSI JASA § ---mmmmoe T ST THETS 3TeAeT ST

a) fout b) arer ¢) ST 3fvg St d) et
Ajim Premji is the president of group of industries.

a) Vipro b) Tata c¢) Jonson & Jonson d) Nirlep

21, USTTeRTe SIS e FHTE e FHiS 3Me?
a) Ga b) FATR C) STERTE d) feeett

a) Mumbai b) Nagpur c) Amravati d) Delhi

"gTe A= I AT TEIRIAT THIREGHT HhivT?
a) ferToT St b) T gob C) JTR et WWECRIGIRCIEIUE
Who is the author of the book "What went wrong"?

a) Kiran Bedi b) Supriya Sule

c) Asha Bhosle d) Devyani Khobragade

HERTSIC ---------- T2 TeIETH SATAT AT Ted IHRTATT ST 3R

a) Zem] () b) e ¢) v d) et (1)
New camp of coastguards is built in of Maharashtra.

a) Dahanu (Thane) b) New Mumbai

c) Ratnagiri d) Juhu Beach (Mumbai)
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148. da TTSTTse ShvTeT AT ST=HEA 341%'?

149.

150.

a) TeEAvesT b) stigmReT C) BT d) TerRTZ

In which of the following state Saint Gadge baba was born?

a) Madhya Pradesh b) Andhra Pradesh c¢) Chattisgadh d) Maharashtra

HRT He3el FTeAT --=-------- Tetfetent Bica.
a) TR qom b) AfeEtaTE Fed ¢) 3ifeeamas giey  d) giaar ot

Mukta Salve was the teacher of

a) Tara Rani b) Savitribai Fule c¢) Ahilyabai Holkar d) Putima bee

Find the opposite word of the given word.

Expensive x

a) Dear b) Uneconomical c¢) Unexpensive d) Cheap
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